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Part 1. Solve the systems to find the solution(s).
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Part 2: Graph the systems to find the intersection.

5. y= —gx+1l
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Part 3: Graph the inequalities and systems of inequalities. Remember to shade!

8.y > 2x2—5 f / 9. y> —x2+4x+5
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Part 4: Word Problems

12. 2 cars are driving is turning on a path modeled by y = 3t — 2. A car crossing the railroad can be modeled
by y = t + 5, where { represents time in hours. i

a. Do the 2 cars collide?

b. How many hours into the car’s drive would they collide?

13. A pumpkin is launched from the ground and follows a parabolic path represented by the equation

y = —x? + 10x + 5. At the same time, an arrow is launched from a height of 10 feet and follows a o ‘HW
I” WX

straight path represented by the equation y = %x + 15.
x Mave

4ime be  a. How long after the launch do the pumpkin and the arrow hit? ~1.21( sec. et

';;\“ l b. How high off the ground are the pumpkin and the arrow when they hit each other?

215, 06 feet



units : Feed & sec.

14. If a baseball leaves the pitching machine based on the quadratic model y = — % x? + 2x + 3, then find the

following:

a. What is the maximum height of the baseball? 4— S 4‘ e+

b. When does the baseball reach its maximum height?

.S sec.

c. From what height does the baseball leave the pitching machine? P) Fee t

d. When will the baseball hit the ground according to this model? % 4.10 SEC .
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Part 5: Quadratic Functions and their characteristics -2 [ x> 5"'5’(*263.' 0
2%51'—* LpY+10 -G +(0
15.y =3x% +2x— 4 16.y = —2(x—5)* + 10 -2x%4 201

a) minimum or maximum? _ MWW OAWIN

b) y-intercept: (U' "4)

\
¢) Axis of Symmetry: X =73 % x=-.33

d) Vertex: ("ljl"%) vz (‘-33,'4-33)

e) Zeros/Roots: * =1, S4and & . 37
— 1-
f) Vertex Form: \.j = 3(X"’ JS) g _;t

a) minimum or maximum? MAXI Mum
¢) Axis of Symmetry: __3('_-"_5

d) Vertex: M

e) Zeros/Roots: = 2, 1l and % 7. 2-4'
f) Standard Form: H = '17(-1 +20%-40

Part 6: Transformations: State all the transformations from the parent function y = x2.

14,y ==(x - 2)?

15.y=3(x+7)*+2
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Vertical shrink of ., righ+2

Virtical Stretch -of %, efd T, up 2

16.y = —x? + 18 [ef\eC

toover X-axis, up |8

17.y = —2x2 - 12

peLleed over xeoxis, Vorial shetth of 2, down 12

18.y = 3(x +5)?

19.y=~2(c+22 -7 reflect over X-axis, vertiaal darink 0F %

20.y = —(x—1)?
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([tPlect over Y -0xis, (ight l

letd 2, down’



